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Semester One

1. Round 135 to the nearest 10. /L/O [1]
2. Inthe number 63184:

a) Give the place value of the 8. /O f [1
b) What is the value of the 1? leo [1]

c) Write the number in expanded form.

bx 10960 + 3x 1000 + Ix|ov + £X/0 ¢kl

3. Estimate 72 x 46 using one figure approximation (working must be shown to get
marks). [2]

70,
X470 Must Tlses | Rpave

Iroors A Y g marks

4. Calculate (full working must be shown to gain any marks) [7]
a) 57-39= c) 52x37=
5T 52
39 v X 47
b6t
| & (st ¥
T d
b) 2548 +7= d) 37-5x3+8=
26 uf v v

v - 2
7) 01/)”‘2{2@ /, 37’/§+§2 =0



5. List the factor pairs of 36: 2)! > Eonr ‘w/
Spaw s Vv
%6 20 342 4,9 6,6 "

6. Give the first 4 multiples of 3

3,6, (% [1]

a) Write 24 as a product of prime factors showing how you found the prime factors.
24
%
a2
° 6

7N\
2 2

2

v

Q-Y?K 2 x ?} [2]

7. John makes model trains and uses a scale of 1:50.

b) He is going to make a model of a train carriage that is 10 metres long.
How long would his model be?

e = | 00O Cun
50

O or O D 2]

¢) The height of one of John’s model train drivers is 4cm.
How tall is the real train driver using his original scale of 1:50?

Lo X550 =

v
2ED Com . 00 Dimn 2]




8. Use the map to answer the questions given.

nd-Grdfton
Bt )

o ARG Parnsl
Foipt :

i EEN N
ERE T

N {7
i e S

b

“ \}3 VWMM

e &
a) Give the co-ordinates of ACG Parnell College (marked with a@))( (G') l\) [2] %?@;Lﬁﬁ\ ;&;
payr F {3y

b) What is at the co-ordinate (7.5, 6)? Poolen Bv ohes of (1]

c) Give the length of Carlton Gore Rd. )
12¢u. ysTO V'
2~

W, 3OO0 A . v 2]

d) Give the compass direction to travel from ACG Parnell College to City Towers.
SlJ (1]
e) Mark the co-ordinate (5,4) with an X on the map above. [1]




9. Inthe box below draw the locus of a soccer ball being kicked a long way and then
bouncing three times before stopping.

Mn&w\%%m
.
Y i/f”“‘“\‘\ /"M""‘m . /“““««%\h
(1]
10. Alex has 24 rings.
a) One third of them are made of gold.
5 . {) ; -
How many gold rings does she have? 24 =2 v

(2]

b) Six of her rings have diamonds in.
What fraction in simplest form have diamonds in?

Lt
207 56 1o
‘ F [2]

11. Calculate the following giving the answer in simplest form where possible showing
full working. 51

e 2
b) =+=+-= “3,“ = 2
M, e
9i-3= f > ”;2?-/ Ve
12. Complete the fractions: | 2]
3 9 15
4’ 12’ ‘
13. 0

a) Calculate the area and perimeter of the rectangle below.

v

Perimeter / 20 [2]

2m HA4 4242 v "

4m Yx2 v

Area <P m 2]




b) Calculate the volume of the cuboid shown.

) den X Zu~
v 2
14. Complete the following decimal calculations.
Full working must be shown to gain any marks.
[7]
a) 52x%x23= - b) 2548 -3.26=
512 .
156 226
0o V T 22
g6 v
c) 825+5= a) 532-357=
o e6sY g3h
5,) (P‘}}_‘Fg / o 3,&"7 Vj
175
15. Complete the conversion table below. [6]
Fractions Decimals Percentages
o3 G
% 0.5 50 7,
3
3 o 37¢ 37 <%,
5 o £ 02 20%

—




Geometry

16. Measure the angle below.

ooV C

o A
a) Write the size of the angle in the space provided.

LTZOD:LL. / [1]

b) On the drawing above use three point notation to label the angle ABC. [1]

c) Complete the sentence below.

The angle above is a/an aCM 2 angle [1]

17.

a) Using a compass and ruler draw a triangle with sides 5cm, 6cm and 8cm.
Leave your construction lines.
(no marks will be awarded without construction lines.) [3]

Si2e Ve Vv
Coaty oed 1 V7

b) Put the most appropriate word in the sentence below.

The triangleisa Cﬁ/{ e triangle. [1]




18. Complete the table below: (some have been done for you). Show proper marking to
indicate equal or parallel sides or equal angles and be specific with the names.

[12]

Drawing

Name

Definition

Ray

Is a line with starting point
but no end point.

A -

[I‘V\)., '%/:s !7\9/%, az,{vwf?u«;«.
Square /-'ﬁ ﬂ'ri/vk d««d(ﬁ-,

‘Hﬁﬂaﬁov\

A polygon with 6 sides.

Trapezium

( ;pa, " ffr
ig‘;agucéf{e/{ Tkl

{;ukga/c

A polyhedron with 6 sides
which are all squares

[ Serceles

5 £
X a1l .
”é“ darSis

&

} 3 ot - )
o ﬁi@iﬁ%‘ﬁ,{f‘aﬂm! r ¥ d‘m}i &A{

]




19.
Draw an oblique projection of the block figure from the question below with the side

marked A as the leading edge. [3]
Avwiing
T ke
Ty, fowveehdV
20. A B
E
1D, JU— C
From the figure above name one
a) vertex [1]
b) face [1]
c) edge [1]




Statistics, Charts and Graphs

21. In a swimming relay team the four swimmers can swim 100 m in 85 secs, 90 secs,
87 secs and 94 secs.

Calculate the average time for the four swimmers.

x 28
o
¢9__py
22. Asurvey is done of 20 year 5 students” heights. The results are given in centimetres
below.
136 125 136 135 125 133 133 128 125 135
124 125 133 124 125 132 133 127 136 124
a) Draw up atally table and frequency table for the data. [3]
V2 4 i 3
12 ¢ Wt 5
2 b
127 [ [
128 ] %
g
[ 3o
Ky
(32 [ ]
133 1| &
(24
i3¢ H 2
PSE 0y 2
b)  Draw a stem and leaf plot for the results. [4]
3 S
v | 2 5m5 < &85 "7} v )O&Q., [ el \P
\ . ooz o en are nd 't
\/tgi:;z%agskﬁ st V7 Lo
P / o fem, G b e

: ®



¢) Using the data on heights of the children draw a Bar graph to represent the data
on the graph paper below.

? ﬁvi((:f (¥, 0
ARt laket v
N
A v
Bawe Vi
g
O 1
§
2
:
=y
<2
(=]
<
|
/\\/ « i
R
= [5]

d) Ifthere are 100 students in year 5 how many would you expect to be 133 cm tall?

Ixs vV

2

_[2]

11



23.

Algebra

a) Give the next 2 numbers in the sequence:

v/
5,12, 19, 26, %3

b) Describe the sequence in words.

VARG
W'Mu“l

[2]

¢) Write this formula in symbolic form.
v’
A= Txn =2

[2]

d) Write the formula for the following sequences in symbolic form:

18,15,12,9
\//\_A/\
A.° Ll =3~

[2]

24. Solve the equations below

a)3 X a+2=17

[1]

b) 20—8+b =16

[1]
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Time and Temperature

25.  Convert the following times between 12 and 24 hour time. [5]
5.04
P IToy”
12.23 n
pm (2 v
e
12185 R 0015
—
12 pm 2. &0 v

26. If Jake leaves home at 7.43 am and arrives at work at 9.11 am how many hours and
minutes has it taken for the journey.

27.  Calculate how many minutes there are in 3 days.

3% def <éo/

L{ ?32\/@ Mo I |‘2]

28.  On a winter’s day the lowest temperature recorded was (minus) -5 degrees and the
highest temperature for the day was 22 degrees. How many degrees are there
between the lowest and highest temperature?

A
~3

_[1]

D

13



29.

30.

Transformations

Draw in the lines of symmetry on the figure below.

v

a) Transform the Arrow labeled A

oy
(i)

(iii)

Reflect A in the mirror line ml and label the image A1l

Rotate A about centre O 90 degrees clockwise and label the
image A2

Reflect A in the mirror line m2 and label the image A3

b) Fully describe the single transformation that would transform

@
(iv)

AtoB

AtoC

[2]

@t W\ﬁ%’@\»"%'\{"‘;g v
[2] f© (ol e
V@’,{“’&J\"aﬁ;‘mvﬁ ‘
2l qmr;f%% Y d

[2] wethodimn”

thw
_ v
Wvomslahosn  lovigus [0 down 9]
v ’ v’
Enlacimenr ¥k ks 2 2
& ]

(IR RE RN G
A ) R
i ? < ;
P g Ot , M i

B
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Probability

31.
a) There are 20 Pebbles in a packet. There are 5 red , 4 green, 3 yellow and 8
blue Pebbles.
@A) What is the probability that when one is picked out at random it will be
green?
£ )
v Y5
(ii) What is the probability that it is not blue? re. 3
o & F 1]
(iii)  Using the same packet of Pebbles John says if he combines some of
the colours he can get a probability of 0.75.
Which colours is John wanting to combine?
gveen Yell oty Lls [1].
b) Ina giant pack of Pebbles there are 140 Pebbles. How many green Pebbles
would you estimate should be in the giant pack?
71
é;j o ‘é;ﬁ AN j v s
e +§ = A v
v’ 4 1
Ad 2]
32.
a) Draw a tree diagram to r?(present 3 coins being tossed.
"
<
T ,:;“;f H
T
, 111
. J/H {/"” m
t‘/ o “
\ ”
Te
/o <§¢ 3]

b) List all of the possible outcomes.

M, AT, ATHA  ATT, THH T, T8 T
I l K g 1 7

2]
;’; Ol ’:mf{‘»}« : e l’f
15 L ofagvitbed b A ouvle o \

.
|0
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Problem Solving  wo»* 7

(Working must be shown for all questions in this section) oy

s sn

Tl .
) wdy . -
P AN
A . B )

33. Farmer Oscar wants to put a fence around his paddock and he uses 20 posts.

a) The first paddock he builds is in the shape of a square and the posts must be 2
metres apart.
(1) Draw a diagram of this paddock showing the position of each of the 20 posts.
[1]
VAR SR R S

,\'
A
e’

ha \ ;@“m

£ ¥ .;.fff‘.}ef’.){-*i
—_— b posts
(G r
(i) What is the area of the paddock?

1/ ~

JO®A X0 vwa = [00 v

V/‘.}?
[0 »m™ [2]

b) Draw a diagram of the paddock with the smallest area that can be made with the
same 20 posts also placed 2 metres apart and calculate its area.

L 3
Area= 26 v 2]
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34. Fred, James and Sara all sat tests. Fred scored 84%, James got 20 out 0of 24 correct
: and Sara got — of all of the questions correct. They argued about who is the
smartest.

Show how the test results can be compared to show who the smartest is and Who

came second and third out of the 3 students. (working must be shown for any marks
to be awarded)

v
second ok ¢ 4 ?; [/

third gﬁ‘% e ég:\),jg %

\——’\. 35. Michael is paid $20 for the first 8 hours he works and is then paid $30 per hour for
any hours he works after the first 8. Before he gets hJS pay 15% is taken out to pay

tax.
a)

(D) How much will he get before paying tax if he works 11 hours'7

Foox® + §2ox3 Qo+ %o&(%
$— l6o ~+ L? 90 S} —_3:
) o]
(i)  How much will he get after he has paid tax?
100 7

@2!2»5"0[2] %3

- b) ’ How many hours will he need to work to get paid $26é.50 after his tax has
been paid?

26250 ¢ 50 ;#34‘5
¢S

G‘:’é Sz {2
oL g = T

\

>

o

o-—»-‘
o O

2 e
<

3

)
> v 2]

n
J




36. JoSoe had three mathematics tests this term. He got 82% in the first and 73% in the
second and 85% in the third test.

a) Calculate his average for the three tests.

fat15+d= 240,
: 4
VA 2]

b) What mark does he need to get in his fourth test if he is to achieve an 82% average
over the four tests?

fax = 328
Cmaul vV

%‘} 0 \/
g
e8 7 [2]

37. Three bhildren Alex, Ben and Charles are given a total of $360.
a) Alex is given three times as much as Charles and Charles gets half as much as

Ben. '
Calculate how much each boy gets.

& 2 o g ot o o

2¢ 2¢ < Vv C
Le = &6o
c = bo

v v
Alex ’ QQD Ben 20 ACharles é’D [4]

b) The boys each use their money for different things.

~ Alex spends two thirds of his on a cell. phone, Ben spends 10% of his on
ice-cream and Charles invests his so that he has an extra 25% after one year.
Calculate how much each boy has at the end of one year.

A Lge L2 = 6o ¢ boxar:iS
Y ’e,D
T <= ’75& . BoAlc = 18

o —jr =

Alex ?61} Ben ~/ o Charles i 75 [3]

18
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38. Jenny’s model train is set up on a circular track. Six telephone poles are evenly
spaced around the track. The engine of the train takes 10 seconds to go from the first

pole to the third pole.
How long would it take the engine to go all the way around the track?

0 (

L . \ o .
(08 /0 o — = ¢
° 7
Vo o v
e Tlee > b = 30 fee!

g

[2]

39. Farmer Ben keeps ducks and cows. He has 22 animals which have a total of 56 legs.
All of the ducks and cows have all of their legs.

How many of each type of animal does he have?

SRR

5
Lt b3 L4 I

Ducks= 5 ka v P
,; v

Cows= 2
[3]

40. Leslie sold oranges. The first person brought one third of her oranges. The second
person bought 4. The third person bought one quarter of the remaining oranges. At
the end of the day Leslie had 15 oranges left.

How many oranges did Leslie have at the start of the day?

20 B vt G \//

& , 0
&L veft G ol Y
A6 26

The End

19 @)
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